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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ

Qi S1= a1 €C: o1 =3 =2) 28, = {52 € C: |z = ot U =2 + |- 1} .,
Question: 2

21 €S; P 2y € Sy U, |zp— zq| Al Y Bud .
A: 0




B: l
2
C: E
2
D: E
2
Topic: Mathematics-Section A
Item No: 16
Questi
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Type: MCQ
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Type: MCQ
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Type: MCQ
X
Question: | [glasa-ld [@Q8x f(x)= f e* ! f(t)dt—(x*—x+1)e*, x e R, -l Yy Buq .
0
2
A: e
Je
B: —2Je
C: _JE
2
D: _—
Je
Topic: Mathematics-Section B
Item No: 21
Question
D 100621
Question .
Type: Numeric Answer
Gzl 3 S 2L Ul 218 S35z dlotl WHaAsH AL 2L o1 O % el Ucds 53527 {A, B, C, D, E} digl s
Question: | 1AER O 4L dl {1, 2, 3, 4, 5} “igll 25 AvaL O, a2l 5usel Yriad- 53l asi 8. syl A
| el s 3822 {1, 2, 3, 4, 5) WAL 51 BAs AL M ALl 2A0L S HiAL WAL VAL ol o x 50 i,
'\'I?L o=
Topic: Mathematics-Section B
Item No: 22
uestion | 100622
Question .
Type: Numeric Answer
QRLE P(—2, —1, 1) 24 Q[%, % %} 3\ aolis} 4516l PRQS AL REBEA B, ot Bisel
Question:

.

RS Al E£2100dR o, — 1, B €14, ol o 2hedl B odel ~4rici¥ (1S Yl GR1edl Yousl €, dl o2+p2




Topic:

Mathematics-Section B

Item No: 23
Question
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D 100630
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Question Type: | MCQ
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Type: MCQ
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Type: MCQ
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Question
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Question
Type: MCQ
Question: | $¥AlL Blerdt d g 2 sy o 2 2% evedl st al yedll auiZl wr ogeamat 2R
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Question
Type: McQ
1 em? 2888 BRIl Al deil doud viHell s2dl 42 @oleg usd “a ........ U3l
Question: . o I S
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Type: MCQ
{121 o (G-l 2uua1 9.
(Gt T: 45 2UEAARAL AYAHL 240 B BLHLA AlYHIA GUR AR M D,
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Question | 490640
Question
Type: MCQ
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Question
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Question
Type: MCQ
Quest UG Y31l 2 R 2] Zld Wasul 204 O 5 ol d-l doud Yo dond saal siell A, A
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Type: MCQ
LUl glenl AR, 045 kg m-! svzdl {4 ardl 319l 21 fugHL UBUL s dlu glouy
(a0dl ¥udd), & or dulEilcisr 2418 45° Al 5101 A1 D, Al Guz A [Elcey 2rvarmi 209 8. ulhuL ur
sl Ged (Bl [QR1AA 0.15 T sved oeisly &t Madd €, iR Ul Rz aven v ov3dl
CBREBICTY ¢l
Question: {g=10 m/s? Al Gyl &?ﬁ]
Bt Al
45° 1
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Topic: Physics-Section A
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Question
D: 100644
Question
Type: MCQ
55 Grs522 BR1AAl YRUAUL Uelle] A4S0 5 sin(49 wt—30°) 8. ol U5 30 mH €14, dl =523
, HHidr diegsr wilszel 23l
Question:
-5 a
7 dl.
A: 1.47 sin(49 wt—30°)
B: 1.47 sin(49 =t +60°)
C: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 mt+ 60°)
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Type: MCQ
L5 (el sleu Yoror, Wiean 1 Higll YR YA ALE WIEHH 2 U uslRidl 254 S o, %4l.
(c=3x108 ms-12N4 9.)
Question: Air [Medium 1 |Medium 2
pe=1 =1
€= 4 €.=9
C | v | &
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C: 1.5%108 ms-!




D: 3.0x108 ms-1
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ID:
Question
Type: MCQ
Question: aalsoran usiRAL woldlx eelsiudl Howed slisagllul 2ilee/(s2a 2id 20N (AAs12) o422l 2id
| 30 em B, s 2edlasiusAl Stefla dieaell 2 §d dl 2es(sacl -gdend >3l
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
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Qlfestion 100647
ID:
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Type: MCQ
A = 12227 m anllsee, deszlr-l [s-olodl doidensd AadlL iz aur 9. 2L Hulszenil x ...
X
YUL O

Question: | i3 m =gdsgir- £
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Question
D: 100648
Question
Type: MCQ
Question: | 2t (sl szt MEiEiHlL el 5101 60 (B4 ©. d-t [Sielsv-t 4 3o gL Sl oudt U W
ALLAL HHA Y3l
A: 120 [Ea
B: 130 (Eax
C: 180 [Eax
D: 20 (Eyx
Topic: Physics-Section A
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Question ID: 100649
Question Type: | MCQ
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Question | 490652
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o/l AUDAASIN 2 sls 30 [(iedle €M A disd cAiddl (341 2Als29 G W4 Y281 2R (safe
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Qtfestion 100653
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ype:
2l 01~ Rzl WAL, 560 nm dRAECHL AR Us12L, o 501s USRI sl a2 2R 7.2
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Que§tion Numeric Answer
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LCR 28l uRuami addl Halgl suEdr (Yed)  del ey 4l % QL UM Al 23U
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15[l gleUl AR 20 O 2ARUY 24 300 cm @elld BRledl wi[ialer dirA 2aRig uel
(RB.) 2 4V emf Hzdl WHL[Gld 514 418 sdselidi 219 9., WRuAHL 29318 UelHl R efedl
ASIE, ML 20 MV Al 518 W2 60 cm AR 2RO ol 8. ‘R« e O sl
. 4V R
Question: | —()—RB]
A ..@ B
20 mV
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1.2x10-30 Cm 241 2.4 x 10-30 Cm (g-¢ell 253t ddl A [y (- gell2iia 20459 015 x 104
-1 - 4 21 =, . . . . =
Question: | NC 1 #1115 x 108 NC-1 efzal [Radlet (e s 209 9. (dga (5-ydlail g1z - eiadl
WU 2151 98lidR 2 4 ey Y3l
X
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Question | 190657
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Quest 215 24xL dzg 36 km/h AL 4L &l allct s2cll 2+ Hizdl 4l 320 Hz Q*Llci[-\\'l.-{l AIZLAL el 2L S8R
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A Hz 204l el deousl. gl el 901 330 m/s 244 9,
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2 mm 41 4Ad 28 gelletl uRUIL2L 1750 kg m-3 el GR1eidl gLleleiil 0.35 ems 1 AL 2420 €2 4l
Question: | Guz %2 . glaLl Hie R8I 2is g (025 yeuls Yell) O. (el addl 2008y
9.)
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QLfestion 100659
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‘m’ €N ARl 2 E svzdll oUAGled BR1adl odls (Rl suledl 2A4R), sk d-ll ooy 2186 U

SIE) ESTEIR 25 cm

2z Yol goud O, qurid Rl Hie Rl 212Nis nE Nm- 140 O, n « 4o g2l
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—E
m
Smooth surface

Topic: Physics-Section B
Item No: 60
Question | 490660
Question .
Type: Numeric Answer

£35 EOL/M’ el 41 ‘2’ BR1ecl 2R 215 UL clslirl 2uglal 2ol 2R sl 2094 ©.

ol OO' A 2@l 24 datell svscatel smen i Ma? €4, dl x  yeu sl

TO
Question:
10
Topic: Chemistry-Section A
Item No: 61
Question ID: | 100661
Question
Type: MCQ
. =, " - = . =, =

Question: | {2 2 aMiz] Vg [GEIA AL




A: sl 20U adousiz Wl o4l 25 JAsgi- 52 9 d ollgael sl adls wraifda ©.
B: 5815 21 245 URHLGLML 2185 Sasziq oL [SEx (b) ©.

c: ALz s, 2ARcicd Gldglare qQluz iRl ARG ©.

D: YUY 5815 55 n 21 1 sell-eH 2Aisl 943 Wllsd (characterised) Y44 9.
Topic: Chemistry-Section A

Item No: 62

Question ID: | 100662

Question Type: | MCQ

Question: o2 LAl eAal Wil sHL R Al 7
A: AH =aAU-PAV
B: AU = q+W
C: .ﬁSS}_,S + A8 Z0
D: AG=AH-TAS
Topic: Chemistry-Section A
Iltem No: 63
Question 100663
Questi
T;Jpees: on MCQ
YRU- T 208 YR - T A sl
YR -1 YR - 11
(A)  Cd(s) + 2Ni(OH)3(s) - CdO(s) + 2Ni(OH)5(s) + HoO() (I)  ualis ¢iesl
question: | B Zn(Hg) + HgO(s) = ZnO(s) + Hg(l) (D) (zldus szl (si) -
' (2at=ulsval
(C)  2PbSO,(s) + 2H,O(I) = Pb(s) + PbO,(s) + 2H,SO,(aq) (II) “indel (d4e1) sy
(D) 2Hj(g) + O (g) = 2H,O(1) (V) (zldus cizdld s
{12 24 aL [Cseuiisdl L syeler wRiE s3L.
A (A) - (@), (B) - (1), () - (11D, (D) - (IV)




B: (A) - (IV), (B) - (), (C) - (II), (D) - (1)

C: (A) - (II), (B) - (1), (©) - (IV), (D) - ()

D: (A) - (1), (B) - (1), (©) - (1), (D) - (IV)

Topic: Chemistry-Section A

Iltem No: 64

Question ID: | 100664

_?;pe;tion MCQ
YR - T2 YR - 1T A sl

YR -1 YR -1
(L Gellus

(A) 4NH;3(g) + 50,(g) = 4NO(g) + 6H,O(g) (D  NO(g)

Question: | (B)  Ny(g) + 3H>(g) —» 2NH;(g) (I)  HySO0,4()
(C)  CppHpnOq3(aq) + HyO) = CaH 206 + CeH204 (I)  Pt(s)

G503 §521

(D) 2503(g) + Oz(g) = 2505(g) (IV) Fe(s)
A2 20 [Bseyinisl AL sraiod YiE s2L

A (A) - (IT), (B) - (I, (C) - (), (D) - (IV)

B: (A) - (1), (B) - (I1), (C) - (I), (D) - (IV)

C: (A) - (1), (B) - (IV), (C) - (1I), (D) - (I)

D (A) - (), (B) - (11), (C) - (IV), (D) - ()

Topic: Chemistry-Section A

Iltem No: 65

Question | 400665

Question MCQ

Type:




Al2 200G 42U (adl2Al) HiYl sl fzs deddidl asziql M 2eaiail2il Auiq 2180 2UsuvHdl
A5 9.

(A) Rb i+ Cs

Question: (B) Na 4 K

(C) Ar i Kr

(D) T2 At

Al2L 2L [Eseqinil Al sraied e 3.
A s5c (A) i (B)
B: s51t (B) 2t (C)
c: 55 (A) 2 (O)
D: s5c (C) 21 (D)
Topic: Chemistry-Section A
Iltem No: 66
Question ID: 100666

Question Type: | MCQ

Question: (Hatan MsH A 215 Uegll W2 Al Al 56 UBAL YL Y 7
A 2Cu,S + 30, —2Cu,0 + 250,

B: Fe;0, + CO — 3FeO + CO,

c: Al,O53 + 2NaOH + 3H,0O — 2Na[AI(OH),]

D: Al,O5 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question ID: | 100667

_IQ_)l/Jpees:tion MCQ

Question: | 5615 MEEL[Artl GuHIL 5T 53 Wil AR CAriacl S etecl BLdEIRL 2UEL.
A Ca(OH), i Mg(OH),




B: CaCO; i Mg(OH),
c: Ca(OH), 21l MgCO,
D: CaCO; 241 MgCO,
Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

Question Type: | MCQ

Question: Al 20l [Qaiimisl 3w © 7

A: WML LiF Al 20l greddl d ddl 20| sycdlus20L 2iedieyld sReL 9.
B: KO, 2 2Aq2jeisl4 .

c: Ul 2L AU grasL 2 uslaul augs ©.

D: AUEHH L, 2L 2 [Q1H Bl Sl QAR Bl B39 ©.

Topic: Chemistry-Section A

Iltem No: 69

Question ID: 100669

Question Type: | MCQ

HRU- T 2018 YR - IT A sdsl, 825 UEUL (R Yot Ul Ay sl

YR -1 YR - 11
(A) (NH,),Cr,0; —2 ) H,
Question: (B) KMnO4 + HCl — (1) N2
(C) Al+ NaOH + H,0 — (I) O,
(D) NaNO; —2- (IV) Cl,
Al2l 2L sl AL syelol YRIE 3L
A: (A) - (1), (B) - (IID), (C) - (), (D) - (IV)




B: (A) - (1), (B) - (I), (©) - (IV), (D) - ()

C: (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

D: (A) - 1), (B) - (IV), (©) - (1), (D) - (II)

Topic: Chemistry-Section A

Iltem No: 70

Question ID: 100670

Question Type: | MCQ

Question: A2 2uiarnigl sl vilAsy ARSI H, Yo sreul gl 20l 2061 © 9

A: Cu

B: Mn

C: N1

D: n

Topic: Chemistry-Section A

Iltem No: 71

Questi

Do 100671

Questi

T;Ipees on MCQ
Al ot [Benl el 9.

Question: Reand 1:  uglid wellsd 2i00d (gled) 21is3sr 24 BOD viriedl el votsy Al ¢id ©.
(At 11 : el vReu 24PN (gled) 2AUsHsr Al HHl (sr2uimi) deisl 44 9.
GuzAL [Ganiql el 1= 20l [aseuiuisl A1 syaler YHE 30

A ofel (el T 2 (St 1T 210 9.

B: SERCHIER EXERCEIEE | RTERS S

c: (e T 20 © ve (e 1T wE 9.

D: [Qeue T © e [Qaud 11w ©.

Topic: Chemistry-Section A

Item No: 72




Question ID: 100672
?;pees:tion MCQ
- T8 Y3 - I A wdsl
YR -1 YR - 11
(A) Q (1) IRl sy
o ® ><D< ) s edlere
(C) :N: (1) [or-uadly [Eym=sly Qe
(D) | | (IV) G456l HHlsy
\0/
A2 2L [Eseuinidl A= sralol YE $3U.
A: (A) - (1), (B) - (), (©) - (IV), (D) - (III)
B: (A) - (IV), (B) - (11I), (C) - (I), (D) - (II)
C: (A) - (1), (B) - (IV), (C) - (), (D) - (II)
D: (A) - (IV), (B) - (I1I), (C) - (II), (D) - (1)
Topic: Chemistry-Section A
ltem No: 73
Question ID: 100673
Question Type: | MCQ




A2 2L WERAL |2 AR [[Asey ydE S0
CH,

Question: (BH,) | Hg(OAC)Z, HZO
B«—22 —~ H,C—-C—-CH=CH, > A
H,0,/0H | NaBH,
CH,
A: ‘A e B 2 o, Histarlsia deeild dlusel 9.
B: ‘A 2 HIslalsia Alusy 24 ‘B 2L Mlaristadlsia sy ©.
C: ‘A B odr dldusiadlsia Alusd ©.
D: B’ 2 Hisladlsia 24 ‘A7 2 ularisiadlsia Alusd 9.
Topic: Chemistry-Section A
Item No: 74
Question ID: 100674
Question
Type: MCQ
Question: | «{[2L 2AdAL [Rauiletou dizluigl 53 Adisv< pK, Yt el 240 uERIA R 9 7
H
A: |
H,C — COOH
H O
B: |l
H
c
C: Ha




H
OH
0

D:

Topic: Chemistry-Section A
Item No: 75

Question ID: 100675

Question Type:

MCQ

Al2 2A0d UL A6l e Yo Alued A 244 B 2L1EL.

(I:l

) CH.CHCH:;: AIE]

EZ; 0, s NayCr0,/H;S0,
Question: ® » P » A

3)H , H0 .

®
OH OH

A: @ and

Br




-

OH
B:
e Br
0 OH
BI’ Br
c and
O Br
OH
H
& Br Br
D:
and
Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100676
Question MCQ

Type:




A2 204 vRedA Wi WY, (e 2ol
Question: C,HzONa
' CH,—~CH,—(H,—~CH=CHy———7—7> A + B
P TR PCH5OH  (ypay)  (aly)
@&N(CH,),
A A - CH,CH,CH=CH-CHj,, B - CH,CH,CH,CH = CH,,, /23 (s/c2l5) -ilusd
B: A - CH,CH,CH=CH~-CH,, B - CH,CH,CH,CH = CH,, ¢l54i lusd
c: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, €ls4i lusd
D: A - CH,CH,CH,CH=CH,, B - CH,CH,CH = CHCH,, s/z34 (s¢c?is) «{lusd
Topic: Chemistry-Section A
Item No: 77
Question ID: 100677

Question Type:

MCQ

Question: Al el o 2R(AA AAgASs WH U O,

A: S8e-1, 2-6141A 2 Giletr -1, 3 sasieAllsalas 2R
B: MUA-1, 2-S 140 24 Gl -1, 4 slastedllsalas 2R
C: S8e-1, 2-6140A 24 Gilet -1, 4 stas1eAllsalas 2R
D: S8e-1, 2-6141A 24 Gilete -1, 2 stasieAllsalas 2R
Topic: Chemistry-Section A

Item No: 78

Question ID: 100678

Question Type:

MCQ




Question:

A2 2 Hsdls SdlaiRieid (X) 1, A2 el GiEIRel AL,

HO—?—H
HO—?—H O
H-C-OH

HO

HO

OH

HO

|

OH
HO OH

£ —
aE




I—IO—l

HO OH
D: OH
OH
Topic: Chemistry-Section A
Item No: 79
Question ID: 100679

Question Type: | MCQ

Geais [ARi8s 2ANalAL Aseiul Al [Eal 204l 9.
(A)  2udicus i [Birugicns [FR1us 2ANEl ¢ 9.
(B) [5x4 22U 24 2AcdieRs 281 U2 sds1d US O,

HEEE ) vl ol A A Rs i e B vl B,
(D) [Girzvaicns 2ANal 2 AU 281 2R1E 2Nl ©.
A2 200 [Eseqinizll wigll elaciudl syaler uue S0

A: g5 (A), (D)

B: & (A), (©

c: g5 (A), (B)

D: g5 (A), (B), (C)

Topic: Chemistry-Section A

Item No: 80

Question ID: | 100680

Question MCQ

Type:




2AZSLAL AMALA YR 2ARUSISS LA W8 H,0, Al M5t afas] e we

(A) €A cllsy Gi=ldld 2212 gleglel Gualol s2L.
(B) ML AUL[s4M Aiucse gl Higal KT g1eel 3l 24l 21wl
Question: | (C)  augoil 221 €241 (o) UL A el s UL UH, el
(D) clgull 201 g2aMied (E9d) UM o Udal A3 e,
(E)  &Hal ABuH etz gl Higel KI glael $3ci d8R 1ol
{120 2A1aL [Aseuiioll 1R srael YAHE S3L
2 541 (A), (B), ()
B: 5 (A), (D), (E)
C: 55 (D), (E)
D: 5 (A), (B), (E)
Topic: Chemistry-Section B
Item No: 81
Question
D: 100681
%Jpees:tion Numeric Answer
SRR DR
X + Y + 3Z SXYZ,
Question: N N S
X2y £25ell 23 mol A8 Z AL 0.05 mol 2l XYZ; dellor A8 dALXYZ, L {lusy g
O, (RAUA © X, Y 2l Z AL Uz, €01l 1459 10, 20 24 30 amu 8. ) (dler, & AL
yuilsul)
Topic: Chemistry-Section B
Item No: 82
Question
D: 100682
Question .
Type: Numeric Answer
Quest s cdedt M 2L 2212 Slgal s2[61s 253 51N 300 pm alzeend wiE 252slsze w8, detrl sl
uestion: , - 5 - .
6.0 g cm~3 9. 180 g clet™i dleyz URHIAIAL vl X102 8. (-sgs-l youlsui)
Topic: Chemistry-Section B




Iltem No:

83

Question ID:

100683

Question Type: | Numeric Answer

A2 2daL Usl oeg2ietsl AL v 9.
Question:
; g R Sy H
Topic: Chemistry-Section B
Item No: 84
Question
D: 100684
Question .
Type: Numeric Answer
150 g »i(les 2R 21 10.2 g 251[6ls 2R (CHO,) 43 MEMd U 9 dl d-l srelegul
(x X 10~ 1)°C 21216l A O, dll x 4 Y B, (llsys-il YellsHi)
Question: -
[ K=3.9 K kg mol ~1;
225105 AR Har 81 = 176 g mol 1]
Topic: Chemistry-Section B
Item No: 85
Question
D- 100685
_I(?ues.tion Numeric Answer
ype:
oy[efzs 2[R (C;H,COOH) Ui K, 2 2x 1072 9. dl oyyfers 1Rl 0.2 M grae-ll pH
Question: 10718, (Alsys yellsui)
[214d log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question
D: 100686
Question

Type:

Numeric Answer




DRI EXTRI ST
A—B

Question: o~ . - - . .
UlsALAL 2460 2044 0.3010 min 8. 2.0 [AetleAl uud ulbasdl Wz Gy (uzun) Aigal Al wlsas-l
Aigeirtl 2elidz gl
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100687
1Q_ue§tion Numeric Answer
ype:
. AR (Rl citzel duddl Al 2uddainl 2idzedisyidAl vl UL
uestion:
CIF,, IE,, BrF;, BrF;, I,Cl,, IF;, CIF, ClF,
Topic: Chemistry-Section B
Iltem No: 88
Question
D: 100688
?ues.tion Numeric Answer
ype:
2RBs Werntl Mn0o3~ o 2reuuidlsen (Bredlsen) A ufoud of Wil sl A 214 B
Question: | oied 8. ol B Wl Mn | 2043214 228 2L A AL 53l 209] €14 dll B Al 2leA-55c Zotsla 2Asmiu
() i Yot BM 4l O, (sl Yulisi)
Topic: Chemistry-Section B
Iltem No: 89
Question
D: 100689
_I(?ues.tion Numeric Answer
ype:
Question: 215514 2516l Cu(en),(SCN), Hle 253 MAHISHL (AaUl) o8 RAR uvaes (1) -l g4 v
' %3l
Topic: Chemistry-Section B
Item No: 90
Question
D: 100690
Question

Type:

Numeric Answer




Question:

C, H 24 O 4r1etcll 245 s1ed(Ais didlloreel 0,492 g o Ayel ¢ 53 0.7938 g CO, 211 04428 g
H,0 Geurrt & O, dl daley—ul AUt sesl esteudl (%) 9.




